Geometric Reasoning 2

Questions
Q1.
*
B Diagram NOT
4 60° ¢ accurately drawn
D F °
Z €Qr = Go
CG\. lbernate 2S )
P >— S x - | 80 — 80 —'CD
o
ABC, DEF and PQRS are parallel lines. x =<

BEQ is a straight line.

Angle ABE = 60°
Angle QER = 80°

Work out the size of the angle marked x.
Give reasons for each stage of your working.

(Total for question = 4 marks)

Q2.

Here is a pentagon ABCDE.



Diagram NOT
accurately drawn

. BAE = 1%0°
Copp cc o k:e-q)

. Agd = Co°

(360 - (30 - (?0-4—0)
L Swvnl atc iuAal(Jtla.L'C/m(

4 . B 0AD = £DAR = IRo—60
N 2
AB = BC = BD = Go
ABDE is a kite. Z D ___._)_Lo
Angle AED = 40° (buste 2 0% (sat o)
Angle EDB = 130° o
AngIeBDC=72° 2 vq4c = 3 (e som °"4)
Work out the size of angle ACB. 2. [tc( = I g0 — 4k = a2 C bae ¢ of
2, (sef 4)

(Total for question = 3 marks)

Q3.

ABCDEFGHI is a regular 9-sided polygon.



l\/dnu%a\ q Cidet

| nferar Aﬂs(z
Diagram NOT - __ 6o _ °
accurately drawn = | g0 T =140
°

cOE = lgo0
Z DER = 40° ‘Jl-'(d( 45)

o

£ FEE = \qo0—-40 = 100

The vertices B and E are joined with a straight line.

Work out the size of angle BEF.
You must show how you get your answer.

(Total for question = 4 marks)

Q4.
Diagram NOT
accurately drawn
& I fF =n0°
€ eqommebry
&K = llo
C .\‘( \c.A Qna lq
lntmswr . oFf oc,s'c&a\
ABCDEFGH is a regular octagon. = IK o ~— _‘Kﬁg
BCKFG]J is a hexagon. o 3
~ IRF
JK is a line of symmetry of the hexagon.
Angle BJG = angle CKF = 140° / l’\’FE - 11 -lo>

Work out the size of angle KFE.
You must show all your working. = 25



(Total for Question is 4 marks)

Q5.

A B Diagram NOT
accurately drawn

T.t 2 of (7¢-Ltflo-.

7 ¢ = 1ge — 3¢°
= lo%°
K L M N Tk ¢ s€ oo}"-‘sa-\
G D = 186 — 36o
P R T 13¢° ¢

F E L QFE= 135 —-108 :2'70

x = |80 —20 —-2%9

ABCDEFGH is a regular octagon.
0
l 2. é ((Sés 4)

KLOFP and MNREQ are two identical regular pentagons. o

(1

Work out the size of the angle marked x.
You must show all your working.

(Total for question = 4 marks)

Q6.



A G Diagram NOT lnE ¢ o £ PCnhjo-\

accurately drawn
E <~ 180 — 360 _ 16¢°
S
B{o% £ Rea = J8o—103 _ 240
. rA
® v2 5 (bare o o€ ifeca)
\2 2| ZO¢p = b€ -3¢ = 22°
C F
ABCDE is a regular pentagon. L DeE = 90 12

ACFG is a square.

o
Work out the size of angle DCF. L MF — ¥
You must show all your working.

(Total for question = 4 marks)

Q7. The diagram shows a pattern using four identical rhombuses.

Diagram NOT
accurately drawn
A = (6 —100
oQ é ¢

4» L 6s°

a = 180 -GS

o= [15°

]

Calliet Kng le¢ >

Work out the size of the angle marked a.

You must show your working.

(Total for Question is 4 marks)



Q8.

ABCDEand AFGCHare regular pentagons.
The two pentagons are the same size.

Work out the size of angle EAH.

You must show how you got your answer.

Qo.

I:A‘:e_{‘wf‘ a.nﬁl,_ ge€ (‘c.su“"‘ o(,é&_&a.« —

Diagram NOT
accurately drawn

lv\Q- P U’C {JC.A‘("L%Q-\
- (%0 - 3?(0 - /o 8'

Z Hag = 3bo-16%-108
2
Cﬂtns\L Som a*"‘ivav‘()

L HrE =

ZEAHA = 1068 —-717
LE€AH = 3C°

(Total for Question is 4 marks)

Diagram NOT
accurately drawn

)

— 1‘30’}& (33’0

8



Jnkercor angla o fcsu‘&f P“""hd‘“ = [Ko—%o = og

The diagram shows two regular polygons.

Find the size of the angle marked x. ox = (¥3F - (0o <
Give reasons for your answer.
o
X = 27
(Total for question = 4 marks)
Q10.
X Diagram NOT
accurately drawn
B [1¢
lge
A :_(-.A L‘-f‘@f QQJLQ D
10

A, B, C and D are four vertices of a regular 10-sided polygon.

Angle BCX = 90°. Z.DCX = 340_,+¢_40
Work out the size of angle DCX.

(Total for Question is 3 marks)

Q11.

ABCDE and PQRST are regular pentagons.



E B
Diagram NOT
accurately drawn

S N\ YRV € tadxerior Q—‘JlQ
= 1€ - 3¢ - )pp°
s
D C
SR is parallel to DC . -

AP=BQ =CR=DS =ET

Work out the size of angle SRC. °
You must show all your working.

(Total for question = 3 marks)

Q1l12.

Diagram NOT
accurately drawn

L &-Q.J‘lc/' &nﬁ (a,
ot perym

c 1€ — 32 — 4og°
s

x — 3CO0—-16€—Go —lof

The diagram shows a square and 4 regular pentagons. X = 3—4

Work out the size of the angle marked x.



(Total for Question is 3 marks)
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